Uh

MuoronpoduibHas
MH/KeHePHasl 0JMMIHAA ITadp H-63/2 - o
«3Be3ga»

LB Bl
" 10000 * 10 /c" g1

h

Do
‘ffﬁ?{?—OOM %—W ﬂwﬁ moeLO, Wff/,? &Ww}
L=opl5 |wak f&/wm ) orip Dk, Vo

%)

7 ()Of‘/ 22 mh i U4 wwﬁ’dﬁk(pu (ot gWW?ﬁo rorottits
ff:*cjfiﬁ p (ngf?-k. Lot WWMW 45?%% /PW)M
Mrocdfoitd . WM . jWOMW 5%7@%-

Py = Pi+ P

Pfz budf osd.  br=mq szw:ﬁ/ws%.

Pd=6psind bp=m9 P4- ;W@‘Sfﬂo‘d.

/o gwm 30g 4 =0, M%DEWM

pd= mgl

Fa=b

Pg- P4= mad.

Py= 15000m" (0 - o 0ib- 22501

PRZPLP, Q/WW:’ Mwm§cw W&J ﬁ‘fWng
Vinkepn: s it QWM & Zonitlgssliclius.



MuoronpoduibHas
Hnmeﬂeﬂg::;;gf:mnnana Iudp Ly e -0
g

Baqota 3 y
Nl@m \lim Vp=5dn Semrt e %, e B = Wlan
ngéw- Vper® . _—

z it 7 HOHY wwd®

§ . VPC SI/Z/J//Z' 76,6 = 344072, E N,/é'@éwg
Ve~ Vpg= 4- 698042, 504 = 16941 70,016 wast” &

OWéMW: j5§f£wg

Sagaca 7
L’Z‘&}M‘, DWM
}, = T Owtd f:—}!—/—"’—e =
afﬂ:-SOM hI.*V ”
£=42 o :‘/\/P\/ . ‘\/

1 Vke,

Vee -7 f:’g\][f_f: \7%&* {
L/B' a8 f__(&
Ve y
Vie.c.= ‘P'”A

R R
szg'ﬁn. §=’ﬂ"?" fL= "E_L pPs "o 7 ‘QQDWJ ZI’W
é”:g(}p{x@a? 66&(4'

\fp:’ﬂ"l“’z-%fm_ X
i B §° 8 = TR B

25,2 o’ 2
Veez —ja-p =223 o

Owlign: 228 4°

o



